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101|R#A7 L 395 91 304 Kg |EE 1,404 140| £ 1,944 324
102|357 L 1,745 1,745 Kg BIE 1,566 532
111|&EEF £ 297 297| Kg =40 1,728 432
113|RAV S 262 98 164| Kg |&8 864 540| & 3,240 432
114|B5EFE 167 12 155| Kg |ERS 1,512 BRE - &E 2,700 1,080
117[14 % 352 116 236| Kg |@EB 2,160 540| & 3,132 648
121{hblE € 29 29 Kg |EE 702 324
134[#= 322 165 157| Kg |&)I - £ 2,160 1,400|& 1| 2,700 1,134
140(5 I 22 22| Kg b 39,600 25,920
147|E2 O 105 105| Kg EIRE - g 8,000 4,000
158|EFEA A LS 346 7 339| Kg |EiE 1,404 IR 2,160 1,296
201{Lvb L 625 625 Kg T 486 324
203|/hd L 214 214| Kg R 405 216
205|3L8 L 905 905| Kg & 389 259
206| = 1F 413 413|  Kg A 821 330
208|m>% 364 364| Kg L 1,620 351
2094 B & LA 393 393|  Kg KI5 994 675
210{1F AL 300 248 52| Kg |EI% 3,510 2,079|4E M 3,240 2,268
212|&5E.3 Y 314 314| Kg Ko - BiE 1,998 1,100
222|052 135 135| Kg T 360 108
251|< B %<3 137 137 Kg |BE 2,009 1,966
254|E b ECH 424 424 Kg =] 1,998 972
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303[A 27z 34 12 22| Kg |EE 468 288|f@H 900 675
305|xAah>0b 6 6] Kg =) 3,780

315|7: B9 6 10 10| Kg = I 3,240 3,024
319|2h o 139 139 Kg NN - 2,160 1,080
332|= 13 WA =EF 172 172] Kg Bl = 2,376 2,052
3bl{HHV 45 5 40| Kg |8&BE 2,700 FE 4,536 3,780
35411FxE<Y 58 35 23] Kg |FFE 1,620 1,404|F% 1,836 1,404
355(mp Y 115 115 Kg EH - P E 1,728 600
356(L L& 30 30 Kg SER 1,512 972
357|7RE 16 16| Kg = 1,944 1,080
358|KE 30 20 10 Kg [|EHM 1,728 1,620|Z %0 3,456 2,160
362| & 9 9] Kg =B 1,620 864
401|H W 57 57 Kg Iz & 2,160 1,620
4025 5 &E 35 35 Kg A0 5,454 3,780
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RN L 40 40| Kg F 1,450 1,400
R 2O 527 527| Kg FA77 2,520 1,170
BRECEZV 158 158| Kg & 1,740 1,200
TRER 20 20l Kg JtF 972

BRI 356 356 Kg 73 2,500 1,650
AR 150 1501 Kg JtF 980
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70110 BA 5,035 4,417 618 Kg |E&E 2,516 647| = 1,134 863
02| E 1,000 1,000 Kg HE 1,804
710(2 2 AT 40 40 Kg Ko 1,260 1,119
BlEFAI L 13 13 Kg SR 1,440
755|FH&» C 18 18 Kg EE 710
T56(FNET 95 95| Kg Ko 1,099
76l|b Y AEE 18 18 Kg s 2,314
B01[IBAL = 1S 168 168| Kg tmE - mA 2,700 1,188
802|1 x| 30 301 Kg mE 734
8051 1E 212 212 Kg B =2 1,058 540
810|FAKF 321 321 Kg bF 3,564 1,560
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